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1. uanCGuppw &
‘1 ifRe g u(Bw

§)) SguUL] SNE® e SASDDW 4
The variation of frequency of carrier wave with respect 10 the mﬂm‘#ﬂ!
amplitude of the modulating signal is called -
({a) Phase modulation (b) Amplitude modulaon
(¢c) Pulse width modulation (d) Freguency modulaton

2. Qeauliu S DDA o | SQIfGUSI® el grasser safiplsBass s Soa
ereuu(HLD
(<=21) Gausu Swe (=) @efidar
(8)) @resLmd Feva (¢) ua
Emjssiimufelectrmsbyth:absurptiﬂnufhmenﬁyiscaled emESSIOn.
(a) Thermionic (b} Photo electnc
(c) Secondary (d) Field

3. crsLgmen gﬁr(‘amriﬂuﬂd& Luau@bD eesljrassa 14 kV SeEgss

Baapss Capgur® 224 kV &

Ceaumum_igeme phé&suLpEaTDen. .21
2 BsNEEDCUNE, TeblgTefdn g -0yl SIS Beorerg -
(21) 4 DLEG GPDUD () 2 DLEG SBshESD

(@) 4 wLEE HsfEc (F) 2 BLAG GDUL
dmummmﬁuanyaWd‘Hﬂn u

Inanclectranmiamwpe.th:
memltagcthMRV.mmwmedﬂ&
the electrons would :

(b) increase by 2 times

(a) decrease by 4 times
(d) decrease by 2 times

(c) increase by 4 times
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Which of the following is an electromagnetic wave ?

[L"} a-rays (dl All of the above

5. @eflellesd eram 1.5 QTR SaTaRTTIgLl UL L SID endgyeT STHmIS GLOID (e
2 anangy. (Qeru@ss LOSST HerewssE Simde) em LssSHO(HbE LTTEEGL GCurg
sSTHMS GO 5 Q5.5 YHWPsSHab wHEAPTrm vssw aPlurs urrsEn Curg
3 G&.18. o sdHQib 2 drerg) crafled), saTerTmiqll LIl L &S Sig o6 Tesen ?

(1) 12 Q&.15. (=) 8 Q&.15. (@) 16 Qs..5. () 10 Q&.15.

An air bubble in glass slab of refractive index 1.5 (near normal incidence) is 5 cm
deep when viewed from one surface and 3 cm deep when viewed from the opposite

face. The thickness of the slab is :

(a) 12 cm (b) 8 cm (c) 16 cm (d) 10 cm

6. 1 Qs.b. wpmw 3 Ge.b. yropdrer Q@ 2 Carss CareriusEndE wonGw
~1x107% C O 5x 1072 C yerey W@’ L hiseT QararL Wang) sersar
sieflEsiu® sleaper. Qeuellm Camermi & @HL G War FL&g &9 ullarre
@eeamssuuLLr® uflu Carargfled, @nurs Gmesn Wiaram L Wi :

(@) 1x1072C  (&4)3x10-2Cc (@) 2x10-2C  (m) 4x10-2C

Two mfgaﬂic spheres of radii 1 cm and 3 cm are given charges of —1x1072 C and
5x 10~ < C respectively. [f these are connected by a conducting wire, the final

e e dleas BMiOooer oeml.
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Peacock feather

(<®)) LOGHTEV ST

(@) Hibliusehblen (Ggimev

Which one of the following is the nat

(b)

(a) Grain of sand
(d) Peacock beak

(c) Skin of the whale
@ &s019en
i auflw Y Hensulle 1 BlenGeamm_L LD LmiSng )

[ Berperar &L gam
@ GUTS _assn@uden B

QeuaudD wryaey elensulien eremmodlii :

1
(<=1) V2 Bl (<2b) ‘E Bl (@) \g Bl (FF) \E Bll

A wire of length [ carrying a current I along the Y direction is kept in a magnetic
= B Fa A A) 1 -
field given by B=+E (i + j + k] T. The magnitude of Lorentz force actng on

the wire 18 :

(a) V2Bl (b) \E Bl (c) J% pll (d) Jg BIl
Q sryentl eremLIg)
oL 1 L
(<) R () & J;
XL
8) R (F) Qoa S@azgn
Q factor is equal to
ol 1 L
@) = L e
R b TG

wr
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Transverse nature of hght 18 shown in
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(o) pHBlene (a4, ) it P

(@) euenywimdsi i ebléene (w) erPiad

The charge of cathode ray 18

() positive
(dy neégative

(a) neutral

{c) not defined

seflsasuuBing. B

@) b & wrelile uweruBssoubn 6
o @uissrede LuEUBSSULGD 60 W Bén dilaraier e gor.

(1) R/4 () R

USA. If the resistance of a 60
60 W bulb for use in USA will be :

(a) R/4 (b) R (&)

@ sbbuild 45 eflenirigd@ 7.5 A
CrraHld sibdule odren Bengn i &u :
() 365.5

(#1)6C
(@) 3¢ | (#) 387.5¢C
 a current of 7.5 A is maintained in a wire for 45 seconds fhen fhe oRarge

I |
flowing through the wire is @
@) 6¢ M I

(d)
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@DILY : “fﬂliu@u.l@ub QM) e EsErsE eflen_welldsain. eflenr erewr 24-5
S rnuwnse ablen_well&sab. 6x2=12

Note : Answer any six questions. Question No. 24 is compulsory.

16. @efleu’ L enafipssid eremmme eremen ?

What is corona discharge ?

17. sr@euCermBi L fen WeGanm L o awrrdpenen ereucurm sifsfléEsomd ?

How will you increase the current sensitivity of a galvanometer ?

18. @m 2 Carssfar gaflllar QeualCuDy HPed eraTums uMTLNGESQID. Fe
SVDES 5[5

Define work function of a metal. Mention its unit.
197 3 : . ; .
19. _ Au igmissmeilen 555 F e (Ha.

Calculate the radius of lgzﬂu nucleus.

20. Gerlis cuewsms ellSlanws sms.

State Fleming’s right hand rule.

21. LOM@ELL GTENDITR) GTeven ?

What do you mean by Doping ?
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22. @ UGUWTES SlarCearmi_Lib Tenpmed erenes 7

What is displacement current ?

23. Slangen. era cuenwm.

Define electrical resistivity.

o . 40° eratiiev. -

24. s LGS APUULLSD Gerble Ay Hevs wTHPS Caremid 4
Qurmaiar el clsd cramementd sarédlHs.

oot y is 40°. Find the refractive

The angle of minimum deviation for the equilateral prism
index of the material of the prism.

U@$ - I / PART - I

@iy : eemauCueyd D) A enré s EHs S HepLwall&sayb. el e
s__Lmuwns efenLwallésa.
33 is compulsory.

T et 33-&@

Note :  Answer any six questions. Question No.

25. Csrars =yquld fuoppb R -5@ e Guwrer Qgm_milenet eu(mell.
‘Derive the relation between fand R for a spherical mirror.

26. HaCarLsSp@w. @iy HosCassin@b Qe Cuwrenr QgmLm
eu(mell.
Obtain a relation between current and drift velocity.

27. gefiblan dlaerey abifismen aflemsiu®igs.
List out the laws of photo electric effect.
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30. -J'I&HL tenamm n“'ﬂ.m Bl

|L-'-L 5 ¥ " .
2GS SHDessTel FLDEITLITL_ 68
Derive the rxpt'mminn for resultant capacitance, when capacitors ar

N Series.

31. AN IR sgpeilen S Qg ehm!m{umm:ﬁ-,u‘ﬂm :

(i) Gamen 2 _hHbd WhHDILD
ereuEL T e ﬁﬂmtﬂmm.lh t%eﬂmmgi}mmth meunt &) (HE
9 1x10 3! kg

(i) Egeren
4 Js ' m

lh—h_ﬁ % 10

Find the :

(i) Angular momentum
(11) Velocity of the electron revolving in the g5th orbit of hydrogen atom.
(h=6.6x%10 34 jg ; m=9.1%10 3 kg)

32. STHSEINWLE GUITIf EBTEN Qensuien ﬂmﬂ&md}qmmm&a GLEICES
of magnetic Lorentz force.

sahent featurcs

List outl
33. @gmir RLC sHHe e aer Sen gnedrigudlen Samomii|, Wben Gl Bemomuity
S Hweal apeopGu 184 Q. 144 O wpod 30 Q erafidd HHHIE e
gur® WD MILD Hlen Genri LD

oo BB

i puE TS Guogb Henen b Go

@ev e BLLE CaranpamBUd s &EH (HS.
ce, capacive

uctive reactan
Also calculate

circuit, if the ind

Find the impedance of a seres RLC
reactance and resistance arc 184 O, 144 Q and 30 Q respectively.
between voltage and current
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Note : Answer all the questions.

Gl F e L (HLD 6l 5% &l eney

, , . £
34. (31) @UH PP HeNe $) (m db Gleér senoiy wOL

elleufl&&sa) LD
D|6V60F)
BHanorpdluden sienouy WwHHID GlEFwWRLITL
Explain the construction and working of ful
OR

6L e & &

] wave rectifier.

(<)
(a)

(b) Explain the construction and working of transformer.

35. (<21) Wen Qmepene genflanme gHuUGHL lena Lﬂmm@gggﬁﬂaaﬁﬂm Careneuenily
Qums.

3|60 60 ) ﬁ
(<) wiis @renLLidlerey Spiieflédr QupLLBL ULl sosHpsren GCaramalamu

QuUDIS.

(a) Derive an expression for electrostatic potential due to an electric dipole.

OR
(b) Obtain the equation for bandwidth in Young’'s Double Slht Experiment.

36. (=) LWL - sTafl elflew pwaudsS WenGenmL b LIy LD thq_d'lﬁmir.m
QsramL Cpir sLHHWIe R yerefluie gpu@ srHHU L& Sl e
Careneuanwit Glums.

3|606V )
(<) vanl_Tmen igellen fipwrame Qg ismen clarsE@s. | N
(a) Using Biot-Savart Law deduce the relation for the magnetic field at a P"‘i
due to an infinitely long straight conductor carrying current.
or R 1
(b) Discuss the spectral series of hydrogen atom. 2 ,‘

hitps:/ibyjus.com ﬂ,ﬂ'
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